

TELLUS EQUIPMENT SOLUTIONS - WESLACO

PO Box 386 • 2000 East Expressway 83 Weslaco, TX 78596 (956) 968-7502 · Toll-free (800) 357-7502 Fax. (956) 968-4173



Ship To: IN STORE PICKUP

Invoice To:

MCALLEN RANCH P.O. BOX 1139

EDINBURG TX 78504-1139

Branch					
WESLACO, TX					
Date	Time				Page
09/20/23	10:	01:03 (0)		01
Account No.	Phone No.			Inv No.	
MCALL056	9563831917			W26215	
Ship Via		Purchase C	rder		
		JD6430			
17411165495		WESLAC	:O		
			Sales	sperso	n
				J28	

SERVICE INVOICE

STK#/FLEET#	HRS PIN/EIN	WARRANTY DATI	E HRS
NE036977 NO DESCRIPTION 6430	Х L6430H5974	179	
6430			
SEGMENT# 1 C 1916 DIAGNOSE	06/05/23 06/06/23		
DIAGNOSE HYDRAULIC SYSTEM			
AL168628	UNIVERSAL DRIVE	1 N 618.69	618.69
AL174123	TORSIONAL DAMPE	1 572.70	572.70
AT1223574	Bearing With Ho	1 N 76.94	76.94
FRT	FREIGHT	1 30.00	
L110092	WASHER	1 4.59	4.59
L112690	WASHER	1 2.23	2.21
L219646	Flange	1 N 129.33	129.31
L220055	Cap Screw	4 6.0	24.28
L220217	Cap Screw	4.29	17.16
L77173	CAP SCREW	4 4.4	17.88
RE526324	FLYWHEEL	1 564.2	564.27
R522205	CAP SCREW	4 N 3.85	15.40
TY22028	BULK GAL HY-GAR	13 16.58	215.54
19M7938	CAP SCREW	1 1.82	1.82
19M8292	SCREW	1 1.82	23.16
		PARTS	2313.95
		LABOI	1960.00
10900016		SEGMENT TOTAL ==>	4273.95

SEGMENT# 2 C 16025 DIAGNOSE

06/05/23 06/06/23

DIAGNOSE TRANSMISSION

NEUTRALIZING

COMPLAINT:

won't move

CAUSE:

shift solenoids , transmission wiring harness and cab

harness .

CORRECTION:

JD 6430 Tractor

16, 286.76

CONTINUED ON PAGE 02

Net due 10th of month following purchase if charged to in-house account. In the event of non-payment of all or any part of the amount due on this invoice, purchaser must pay all collection costs, including but not limited to legal fees and costs incurred by seller in any applicable proceedings.

3.	
×	
^	

TELLUS EQUIPMENT SOLUTIONS - WESLACO

PO Box 386 • 2000 East Expressway 83 Weslaco, TX 78596 (956) 968-7502 • Toll-free (800) 357-7502 Fax: (956) 968-4173



Ship To: IN STORE PICKUP

MCALLEN RANCH P.O. BOX 1139

EDINBURG TX 78504-1139

Branch					
WESLACO, TX					
Date	Time				Page
09/20/23	10:	01:03	(0)		02
Account No.	Phone No	١,		Inv P	No.
MCALL056	956	3831917	7	W20	6215
Ship Via		Purchase C	Order	11	
		JD6430)		
17411165495		WESLAC	CO		
			Sale	sperso	on .
				J28	

SERVICE INVOICE

STK#/FLEET#

Invoice To:

HRS PIN/EIN

WARRANTY DATE

NE036977

NO DESCRIPTION

X L6430H597479

HRS

towed in tractor checked hydraulic oil looked dirty drained hydraulic oil replaced hydraulic filter and transmission filter , cleaned transmission screen , hooked up pressure test gauge and lube

gauge to check transmission system pressure and lube pressure , transmission system pressure was low and lube pressure was low . r&r pressure regulating valve found that it was stuck tried to remove it finally it loosened up removed and sanded down and sanded down the pressure regulating bore , installed and checked system pressure still low but lube pressure came up to specs . removed plug and added one shim and system pressure came up to specs had to replace solenoids for shifting gears , replaced forward and reverse solenoids , replaced enable solenoid all were leaking from the connector hook up . tested tractor would not move . checked and replaced some of the connectors tested again would not move . checked on codes had codes for the clutch position and clutch dis-engauge switch replaced wiring harness and potentiometer checked fuses replaced all cause all were wrapped with copper wire and replaced some relays and diode relays .tested tractor again it moves but it defaults to neutral . r&r rear cab cover r&r epc controller and checked the pins on connector , load tested wires to the transmission pressure sensor and the clutch position sensor and clutch dis-engauge switch has problem with the 5 volt circuit .

done .

engine hours are 85 .

AL118169

RELAY

21.70

21.70

CONTINUED ON PAGE 03

Net due 10th of month following purchase if charged to in-house account. In the event of non-payment of all or any part of the amount due on this invoice, purchaser must pay all collection costs, including but not limited to legal fees and costs incurred by seller in any applicable proceedings.

~	

TELLUS

TELLUS EQUIPMENT SOLUTIONS - WESLACO

PO Box 386 • 2000 East Expressway 83 Weslaco, TX 78596 (956) 968-7502 • Toll-free (800) 357-7502 Fax: (956) 968-4173



Ship To: IN STORE PICKUP

Invoice To: MCALLEN RANCH P.O. BOX 1139

EDINBURG TX 78504-1139

Branch				
WESLACO, TX				
Date	Time			Page
09/20/23	10:	01:03	(0)	03
Account No.	Phone No	٠,		Inv No.
MCALL056	9563831917			W26215
Ship Via	Purchase Order			
		JD643	0	
17411165495		WESLA	CO	
			Sale	sperson
				J28

SERVICE INVOICE

STK#/FLEET#		HRS PIN/EIN	WARI	RANTY DATE	HRS
NE036977	NO DESCRIPTION	X L6430H597	479		
	6430				
AL152098		DIODE HOLD	2	38.62	77.24
AL158070		SENSOR	1	121.66	121,66
AL171871		WIRING HARNESS	1	97.78	97.78
AL175213		Potentiometer	1	75.76	75.76
AL80099		HYDR.QUICK C	1	27.28	27.28
FRT		FREIGHT	2	10.94	21.87
L41526		O-RING	1	1.88	1.88
RE177539		VALVE	1	260.67	260.67
RE183369		SOLENOID VAL	1	211.70	211.70
RE183407		SOLENOID VAL	3	271.07	813.20
RE211156		SOLENOID VALVE	2	195.93	391.86
RE217077		TRANS OIL	1	96.99	96.99
RE250957		Chassis Wiring	1 N	1553.85	1553.85
RE519696		WIRING HARNE	1 0	111.77	111.77
RE52722		SENSOR	D'ST 4PA	41.29	41.29
RE546336		FILTER ELEMENT	1	35.56	35.56
R104701		ELEC. CONN	12 0	3.71	44.52
51 M 7041		O-RING	1	2.65	2.65
57M7120		FUSE	6	1.52	9.12
99M7065		FUSE	6	1.49	8.94
				PARTS	4027.29
				LABOR	1635.00
10900016	42001216		SEGMENT	TOTAL==>	5662.29

SEGMENT# 3 C 16025 NA

06/05/23 06/16/23

ELECTRICAL

COMPLAINT:

won't move engine erratic a/c blowers relay is melted and wires are bare and has corrosion on some wires .
CAUSE:

CONTINUED ON PAGE 04

Net due 10th of month following purchase if charged to in-house account. In the event of non-payment of all or any part of the amount due on this invoice, purchaser must pay all collection costs, including but not limited to legal fees and costs incurred by seller in any applicable proceedings.

TELLUS EQUIPMENT SOLUTIONS - WESLACO

PO Box 386 • 2000 East Expressway 83 Weslaco, TX 78596 US (956) 968-4173 (956) 968-7502 • Toll-free (800) 357-7502



Ship To: IN STORE PICKUP

Invoice To:

MCALLEN RANCH P.O. BOX 1139

EDINBURG TX 78504-1139

Branch						
WESLACO, TX						
Date	Time				Page	
09/20/23	10:	01:03	(0)		04	
Account No.	Phone No	•		Inv N	No.	
MCALL056	956	3831917	7	W26	6215	
Ship Via		Purchase (Order			_
		JD6430)			
17411165495		WESLAC	20			
			Sales	sperso	n	
				J28		

SERVICE INVOICE

STK#/FLEET#

HRS PIN/EIN

WARRANTY DATE

HRS

NE036977

NO DESCRIPTION 6430

X L6430H597479

transmission wiring harness , and cab harness fuses relays

had codes on epc for transmission .

CORRECTION:

removed all upholstery removed all covers from side console and removed right side outer air duct and removed rivets air filter and base in order to access the removal and installion of the cab wiring harness r&r cab wiring harness also removed bottom floor plate and bottom air duct . installed all in reverse order .

r&r right side rear wheel removed rear cab supports lifted rear of cab removed and replace transmission wiring harness , installed all in reverse order .

started tractor and worked .

done .

engine hours are 85 .

SENSOR	1 N	203.21	203.21
Wiring Harness	1 N	366.71	366.71
CAB WIRING HARN	1 N 2	581.47	2581.47
Transmission Co	1 N	538.44	538.44
		1105 201	50.00
RELAY	1		41.93
RELAY	2		57.02
FREIGHT			112.64
RIVET			12.12
ELEC. CONN			44.52-
			51.96
			15.20
	9	1.89	17.01
FUSE	10	1.79	17.90
	CONTINU	ED ON PAGE 05	
	Wiring Harness CAB WIRING HARN Transmission Co Transmission Co RELAY RELAY FREIGHT	Wiring Harness 1 N CAB WIRING HARN 1 N 2 Transmission Co 1 N Transmission Co RELAY 1 RELAY 2 FREIGHT 5 RIVET 4 ELEC. CONN 12- HYGARD*GAL 2 FUSE 10 FUSE 9 FUSE 10	Wiring Harness 1 N 366.71 CAB WIRING HARN 1 N 2581.47 Transmission Co 1 N 538.44 Transmission Co 50.00 RELAY 1 41.93 RELAY 2 28.51 FREIGHT 5 22.53 RIVET 4 3.03 ELEC. CONN 12- 3.71 HYGARD*GAL 2 25.98 FUSE 10 1.52 FUSE 9 1.89 FUSE 10 1.79

Net due 10th of month following purchase if charged to in-house account. In the event of non-payment of all or any part of the amount due on this invoice, purchaser must pay all collection costs, including but not limited to legal fees and costs incurred by seller in any applicable proceedings.

3/



590582

TELLUS EQUIPMENT SOLUTIONS - WESLACO

PO Box 386 • 2000 East Expressway 83 Weslaco, TX 78596 (956) 968-7502 • Toll-free (800) 357-7502 Fax: (956) 968-4173



Ship To: IN STORE PICKUP

Invoice To: MCALLEN RANCH P.O. BOX 1139

EDINBURG TX 78504-1139

Branch						
WESLACO, TX						
Date	Time				Page	
09/20/23	10:	01:03	(0)		05	
Account No.	Phone No.			Inv No.		
MCALL056	9563831917			W26	W26215	
Ship Via	Purchase Order					
		JD6430)			
17411165495		WESLAC	0.			
			Sale	sperso	n	
				J28		

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS NE036977 NO DESCRIPTION X L6430H597479 6430 99M7065 **FUSE** 7 1.49 10.43 PARTS 4031.52 LABOR 2520.00 10900016 SEGMENT TOTAL ==> 6551.52

***** WORK ORDER TOTALS *****

PARTS 10372.76

LABOR 6115.00

SRV ACCESSORIES 299.00 16786.76

FARMPLAN

This purchase(s) is subject to the terms of the Multi-Use Account, a service of John Deere Financial, f.s.b. I grant the issuer a purchase money security interest, except as limited in that agreement, in the goods described.

Net due 10th of month following purchase if charged to in-house account. In the event of non-payment of all or any part of the amount due on this invoice, purchaser must pay all collection costs, including but not limited to legal fees and costs incurred by seller in any applicable proceedings.